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13.An engineer constructs a rectangle with length L=|X| and width W=3|X|. Assume that X is normally
distributed with mean p and standard deviation c. Let A denote the area of the rectangle
constructed by the engineer. What is the expected value of A ¢

(A)3p? (B)3(u*+0?) (C)36” (D)3(u*+0.256%) (E) none of the above

14. Three numbers are selected randomly from a population which has a uniform distribution between 0
and 2. If the probability of all these three numbers being greater than k 1s 0.125.  What is the value
ofk ?

(A)0.25 (B)0.625 (C)1.0 (D)1.125  (E)none of the above
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(a) (4%) Y =a+bX [V 3[nlHi5sL o
(b) (4%) ﬁ‘rﬁ%f{é@’rr °

2. (8%) Given the joint density function

fO0y) = x(1+3y?)/4 0<x<2, 0O<y<l
’ 0 elsewhere

(a) (4%) Find f(x | y).

1 1, 1
b) (4%) Find P(—< X <—|Y =-).
(b) (4%) Find P(, 2‘ 3
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